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(BHL:FM/ha)
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ANhthiEz
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2 NIE#. ftE
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N ST iR BEHEREE FLERENREDHIBRLAHIBE
2OWELE 250,000 350,000 444,000 544,000 626,000 | 52 %%
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(Bifz:M/ha)
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K 4 x Bl X %
—E1FE (KR, £FERL)
EHSR 786,000 893,000 1,071,000 1,124,000
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9—1 BEEERHIEHEREFRERE (v (BHi:H/m)
X % R & B O® > %8 iH =&
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HEBREER #16
FhE&EM —B (R ybl: RA—bkRybHY) |RUTFLURVE H=1.8m #@H5cm
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HWEERER #16

CE)FEMDREICHT->TIF, FERESELT DL,




9—1 SEREMLERFER (UM

(BfHI:M/m)

X % A B HO® & %8 i\ &=
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500 K i 150000025:;{&% } gggi ;é’% 1500 L £
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(B{iZ:F/ha)
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el [/ : ; — v
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o r sl : ; — s
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